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Find the lateral area of the cylinder in the image. ,@
Give your answer to the nearest tenth.
O 63mm? O 138mm? O 25.2mm?
6em 1= 63223
Find the lateral area of the cylinder in the image. o
! ral are ylinderintheimage. | A - 9 - (l\ = 2. X X 2X3 F
Give your answer to the nearest tenth. A 3em
- 66’*6 Cvin
O 56.5cm? O 283cm? O 629cm? O 113.1cm?
) 12m
e 4

O 211.1m? 0O 1103m? O 52.8m?

. 46cm

Find the lateral area of the cylinder in the image. C” 28 m
Give your answer to the nearest tenth.

&

*

Find the lateral area of the cylinder in the image.
Give your answer to the nearest tenth.

i
B 3.1cm

O 89.6cm? O 123cm? O 224cm? @

T CamsScanner = lgd &> guaall

Db, LGN

e



N N A R N R R

R U S

B

Al Dhaher Shool
I
Students name ;
¥

Math T3 Lesson 4

S oo

Find the lateral area of the cylinder in
Give your answer to the nearest tenth.

O 18.8 cm?®

Find the lateral area of the cylinder in the image.

Give your answer in the nearest tent

O 191.0cm?

! T6cm 1
h.
8cm
O 382.0cm? O 1234cm?
The lateral area of the cylinder in the imageis Select... v m?, tothe nearest [N’
% lL{ T 10m

tenth.

131.9 cm?

A two-dimensional representation of a three-dimensional figure is called the

~ Grade 7
sl @ sl ety

Surface Area of Cylinders rl

W

the image. 2
S2XTW X 3XA=130.9 am

: Class:

2
O 4.0 cm® O 123.9cm

of the figure.

volume lateral area surface area
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Find the lateral area of the cylinder in the image.
9cem

Give your answer in the nearest tenth.

O 623.4 cm? O 1,187.5cm? O 296.9 cm?

Find the lateral area of the cylinder in the image.
Give your answer in the nearest tenth.

226.2 m? 56.5 m? ) 37.7m?

Look at the cylinder in this image.
The diameter is 3 centimeters and the height is 2 centimeters.

The lateral area of the cylinderis Select... v cm?, to the nearest
tenth. @

Find the lateral area of the cylinder in the image.
Give your answer to the nearest tenth.

2
12.5 cm? @ 7 39.0cm

O 593.8 cm?

6m
~ 3cm
/-v-"’"'c__.__—“_""\
2cm
) 6.2cm
e W
4 cm
() 155.8cm?
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This cylinder has a radius of 3 meters and a height of 6 meters. T
.__—-—-—'_'_'_'_.-__— +x
6
The total surface area of the cylinderis ~ Select... v m?, to the nearest tenth. "
SA=GnrW+@Ew P . . ;
_(169.6 |m =
/
o E— ) bm |
LAz {tf' 0 N g
The lateral area of this cylinder is given as 66.0 m
-2 ™
The surface area of the cylinderis Select... v m? to the nearest tenth. =3
-
- __-____-—_____ -
(O s
Find the surface area of the cylinder in the image, if the lateral area of the
cylinder is given as 376.8 m”. AT
Give your answer to the nearest tenth. T -
S
O 613.1 m* O 601.9 m? O 603.0 m? O 360.0 m?
q 4.7 cm

*

o]
A
v

The radius of this cylinder is 2 centimeters. The length of the 2 ch
cylinder is 4.7 centimeters.

Find the surface area of the cylinder, to the nearest tenth.

O 64.9cm? O 59.1cm? O 25.1 cm?

O 84.2cm?
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Complete the formula for the surface area of a cylinder, by typing in the mathematical symbols and numbers. 0

Surface Area of a Cylinder= Lateral Area +

| S

Surface Area of a Cylinder= +21r? , where ris the radius and his the height.

. 12m |
P S S
The lateral area of this cylinder is given as 113.1 m®.
The surface area of the cylinder is —<~ m?, to the nearest tenth.
" 12cm .,
The radius of this cylinder is 4 centimeters. The length of the
cylinder is 12 centimeters. 4cm :
Find the surface area of the cylinder, to the nearest tenth. 4

@ O 351.9cm? O 804.2 cm? O 760.3cm?

The surfaceareaofa Select... v isthe area of the curved surface plus the area of both the circular

bases.

s
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Find the surface area of the cylinder in the image. ) 3m
Give your answer to the nearest tenth. T

4m
\k_,/

O 603.2m? O 301.6m? @ O 402.4m?

This cylinder has a diameter of 10 centimeters and a length of 10
centimeters.

Find the surface area of the cylinder.

Give your answer to the nearest tenth.

O 942.5 cm? O 1,256.6 cm? O 3729cm?

Find the surface area of the cylinder in the image, if the lateral area of the =
cylinder is givenas 251 .2 m®. UASTRED
Give your answer to the nearest tenth.

.

804.3 ) 488.9 m O 4183 m?
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This can of sweetcorn is in the shape of a cylinder. -3 FF
The radlus of the can is 5 centimeters and the height is 12 centlmeters
=S h:ﬁ‘_”’” Sh: ,a.-whﬂ'f
The paper label covers the curved surface. YAF + XY G |
Find the area of the label. Then find the total surface area. '
y gl o, 0 = 534 |
w

What percent of the can of sweetcorn is covered with the label? \
PQi’CE’.Vﬂ-E = 277 y\60 = Z0:6 7

534
O 100% O 29.4% O 706% ) O 41.2%
__—--'-"'-'.'_'--‘|

A soup can is in the shape of a cylinder. ==
The radius of the can is 4 centimeters and the height is 7 centimeters.
What is the lateral surface area of the can, to the nearest tenth?

O 180.8 cm’ w O 13656cn? O 106 cm?

This light fitting is made up of many metal cylinders.
The radius of each cylinder is 4 centimeters and the length of each cylinder is 20 centimeters.

Calculate the area of metal needed for each cylinder, to the nearest tenth.

There are 30 metal tubes in total, so the total area of metal to make the light fitting is:

(Each cylinder has no metal bases.)

502.7 cm? 16.8 cm? 15,081 cm? 251.3 cm? 7.539 cm? 3,015 cm? 100.5 cm?
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This soup can is in the shape of a cylinder.
The radius of the soup can is 6 centimeters and the height is 20 centimeters.

The paper label covers the curved surface.
Find the area of the label. Then find the total surface area.

What percent of the soup can is covered with the label?

1009 |
O 100% O 750% O 231%

The image shows a cardboard tube for protecting documents, like drawings or certificates.

The plastic caps have been removed.
The diameter of the tube is 9 centimeters, and the length of the tube is 45 centimeters.

ne1er ovahe IUDeN 524 1542
f;\ -1 — =49 LA
The area of the cardboard in the tube, to the nearest tenth, is cm?.

(Drag the correct answer.) L A = 4 Tl- Y L\ R X T x L{ﬁs X Hg;@

1272 13995 25447

Each of these steel rods is in the shape of a cylinder. -

The length of a steel rod is 50 centimeters. ;

The diameter of each rod is 2 centimeters.

cm?, to the nearest tenth.

$ 6.3 @ $ 314.2 & 653.5

The surface area of one rod is
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The image shows a cardboard tube for protecting documents, like drawings or certificates.
The plastic caps have been removed.
The diameter of the tube is 8 centimeters, and the length of the tube is 40 centimeters.

Calculate the area of the cardboard in the tube.
Give your answer to the nearest tenth.

O 1,105.8 cm? O 100.5cm? O 2,010.6 cm?

The tube of potato chips with the black label has a radius of 5 centimeters, and a height of 12

centimeters. 12 \“
Find the area of the black label around the tube. LA¢ LY
(The label does not overlap.) ~ o X T X g X\Z
=
z Cwm
Give your answer to the nearest tenth. - s f ’7
O 157.1cm? O 534.1cm?

The tube of potato chips with the white label has a radius of 5 centimeters, and a height of 24

centimeters.
Find the area of the white label around the tube.
(The label does not overlap.)

Give your answer to the nearest tenth.

O 911.1cm? O 377.0cm? O 157.1cm?
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O 754.0 cm?

s

7

CamsScanner = Ligs 4> guadll



Al Dhaher Shool - — @ oo, Grade7
[ [ | Mimaaren wl fd aninn Py i By by Uy

Students name : : Class:
l 1

;'Wuth T3 Lesson 4 Surface Area of Cylinders
(L

This oil tank has a radius of 4 meters and a height of 12 meters.
Calculate the lateral area of the oil tank.

Give your answer to the nearest tenth.

O 1,064 m? O 1005m? O 203.4m?

- r;‘_-';"__-
This soup can has a diameter of 7 centimeters and a height of 10 centimeters.
The total surface area of the can is ~ v cm?, to the nearest tenth. !
_______ _4 . Ji
e )

Moza is making cushions in different shapes.
The one in the shape of a cylinder is marked in the picture.

If the length of the cushion is 60 centimeters, and the diameter is 20 centimeters, calculate the total surface

area of the cushion.

-
E 'O | 3,770.0 cm?

O 4,398.2 cm?

O 3,832.7cm?

You are opening a new coffee shop and the sign will bein the shape of a cylinder.

The diameter of the signis 0.8 mand thewidthis 0.4 m. h = @+

J:O,S Y- o.Y4
The total surface area of the signis
SA= 2nrh* 2%

2 10 the nearest tenth. .
2 XT KO X8 42X xoy

Vlm
'
Y

\

e V.3 wm
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